EEMOREMBRUVER X

(1) =EHRUEHRAHM

(HAL 2 1/,

00)

AR AT
FEYEHE FEUE oD FITLE o ORI DN (R 2R ik
IRYEmAS | ABhER | ARYER | Bk
TN (W) —1 R T 22 7207 4T H 3008 354 [ 22721 4-29-5 ) 47,900 2.1] 46,900 L 5|{EEH
R () — RS T70 720537 A 43% 141 %7215 3-16-7) 51, 000 2.0] 50,000 2. 0= H
il (V) —3 ] T AR AR 13 M EI21 %29 15, 000 0.0] 15,000 0. 0| (=t
] (U7%) — AR iAlAE2 T B 9723 Milidk2-21-23) 66, 800 1.1] 66,100 2. 0|
18 fi () —5 IV 7 B T 40759 T 5% T 4-15 ) 57, 600 1.8| 56,600 1. 8|
1 (J) —6 SN T A 23 F:177 A 3% 13514 23 F:1-17-4) 57,900 2.1| 56,700 2.0l (@]
Tl (B —7 i i) 7 12 75 BT 1267 34k [{E 5 HT8-34 90, 000 3.1] 87,300 2. 5|
R () — BRI T RA I3 T H 1684 [ FA[I3-16-4) 32,900 0.0] 32,900 0. 0|t
el (W) — S T K S 18 #1302 544 52,900 3.7 51,000 1 4| (=
] () TR T AR A% 1T H 13K 13 kA% [1-10-29 52, 600 1.5| 51,800 1. 6|
e (U%) — o ) T T BT 457 46 T I ET11-12) 63, 400 1.9] 62,200 1 6|{EEH
R e (B) — T I T S S5 MY 70753 [ F 453767 88, 200 0.8] 87,500 0. 8| ==t
e (U%) — BRI IR T B 267591 (L f24-16-18) 38, 200 -0.5| 38,400 0. 0|{EE Hh
R e (B) — RN TR E2 T B 153419 R 2-4-15) 24, 400 0.8] 24,200 0. 0| == Hh
el (BL) — BEI 55 UAS 6734615 U AS 13-4 31, 400 0.0 31,400 0. 0| fEEHr
S f] () — & TN EF3 T H 13628 [N #3-12-9) 69, 400 2.2 67,900 2. 1|fEEH
e (U%) — BN T RS 24T H 628 1354 kS FE4-5-11 52, 800 1.5| 52,000 Le|fEE [ @]
Jelie] (J) — BN A ML T H 53544 [ 45 1-5-5 69, 500 1.5] 68,500 Lol [Shim]
e (U%) — B FE LR LT B 11674 TRIALAE1-10-23) 63, 200 1.1] 62,500 2.5\ [Fid ]
e () — TS 77 i R T 4807 8 [ R T 8-48 ) 67, 400 1.5 66,400 1. 8|fEE
] (B%) — BT A 23 37T H 2628151 H 23 F23-17-22 52, 000 2.0] 51,000 2. 0|f e
R () — TR T = A2 %143 58 49, 200 3.1] 47,700 2. 6|
] (B%) — S T 76 R 19 42255 59, 000 7.7l 54,800 6. 2|t
R () — IR ] v 47 PR L1113 136 14, 500 -2.7| 14,900 -3. 2|
] (B%) — i 7 A FE R 37T H 2067 10 [ o 9e3-6-23) 66, 800 2.5 65,200 2. 2| H
R () — IR ] T PE T 337 144 IR P My 2-32) 67, 000 1.5 66,000 1. 9|
] (B%) — S TR R R L7138 17 O T HE X 9448 X 2341 67, 500 3.5] 65,200 3. 5| {1
T ] (U7%) R [ T 1 AP RS T H 2695 [ HEF5-25-10 84, 000 5.0] 80,000 5. 0| [l
T# i) (W) —29 BER TN SR T B 16821/ BIR1-16-2) 30, 000 0.0] 30,000 0. 0| {1zt
Rl () —30 RV TP RARRA T H 1293 T P RA R 4-12-3) 26, 200 0.0 26,200 0. 0| Hr
T (W) —31 T ] T 2 i BT 5435 8 T i BT 17-23 ) 39, 000 0.0] 39,000 0. 0| (1=t
Rl () —32 R T RA LT H 6575 11 Tk 1-15-9) 59, 200 1.0o| 58,600 Lok
T2 (W) —33 TR ) T R S 9578 [ HUik 28 FE21-13 ) 49, 700 1.2| 49,100 1. 2|{EEH
[ () —34 T ] T 15 /K 37 641 T K 6-18) 35, 700 -0.8| 36,000 | [Eat:i
T (J&) —35 L AL R B SFRT 1299 15 16K B ST 1-31) 53, 200 0.4] 53,000 0. 0| (1=t
&[] () —36 B[ T NS RT76%20 (A RT6-9) 61, 500 1.0| 60,900 L Oj{EEH
T2 (W) —37 R AL LT B 863 144 b 1L 1-11-39) 67, 400 0.3] 67,200 0. 6| {1k
Rl (1) —38 BT R B2 T 9138  H1BF2-14-11) 59, 400 0.3 59,200 L 9|
T2 (W) —39 & TP ALAEL T B 530741 PEfliAk1-30-20) 81, 300 4.9] 77,500 3.5|f
Rl (UL) —40 BT )1 H 551041 %519%: 7 12, 500 -2.3] 12,800 -2. 3|
e () — R 7 A 10H 1675 15 59, 800 4.5| 57,200 3.8|EEH
Rl (UL) —42 R85 ] T4 P 5 1435 280 11, 000 -1.8] 11,200 -1. 8|




AFALEE A4 LT
FEUER T 5 FEVEHL OO FITE K OV 3 QN JR R fii#5
IR | B | BEEAE | AR

Jail] (W) —43 J% [ 17 V6 L AT 12051 190 %254 48, 300 5.0| 46,000 3. 8|EEH
i) (J%) — BT A S5 T H 123 18T AR =5-12-30) 87, 500 4.2| 84,000 4. 1|{EEH
Jif] (W) — 45 TR T 8 R 5 o 899 13,900 0.0] 13,900 0. 0ffEEH
T (W) — R T A PR L R AR T0% 112 15, 300 -0.6] 15,400 -0. 6| Hh
Sl (W) —47 BT R K2 T H210% 131 FkPN2-12-3) 51, 000 0.0 51,000 0. 0ffEEH
T (W) — RERA T T E P 2087 3 5, 700 0.0 5, 700 0. 0|E=Hh
Sl (W) —49 [ T = AN 23 1 ) 9% 22 50, 200 4.1| 48,200 3. T|(EEH
I (B) —50 BRI T ACE 3T H 283 131 A5 3-28-34) 89, 000 5.0 84,800 5. 0|{EEH
Jaili] (J) —51 B g )12 H 5984 1§ 112-6-40) 36, 500 0.0| 36,500 0. 0ffEEH
Jafi) (W) —52 % [ T S i SR VG 3 2 T 2153 10 1R ] R 7 182 -15-27 95, 000 0.0] 95,000 0. O {E=EH
il (W) —53 i) v A A7 BEMERT 237 18 Tk &7 BRI 9-30 69, 000 0.0] 69,000 0. Of{EEH!
RN (B%) —54 RN T E 13T H 4% 2444 145 1113-6-22) 55, 100 1.5 54,300 1. 5|{EEH
Jiil] (W) —55 S T TR B 2147 1 6, 000 -1.6 6, 100 =2. 1|{EEH
S f] () — BT RSB 1T H30%& 7 %A 1-30-7) 22, 500 0.0] 22,500 -1 3|fEEH
il (V) 5— i i) 7 5 o] IR T e 438 444 D e SR T e 13-21 ) 151, 000 0.0 151,000 0. 0fpg2EHh
[ () 5—2 BEM T EELT B 109% 140 EE1-7-17) 86, 800 0.0|] 86,800 0. O] P21
e () 5—3 B AT I8 1T H 2883 1244 TART 18 1-8-11) 113, 000 0.0| 113,000 ~2. 6| 3EH
] (W) 5—4 REMTALAE2 T B 3163 1 Milidb2-12-39) 76, 000 0.0| 76,000 0. 0] P 3¢ Hh
&l (B) 5—5 S THAA ARRT 753 1 TR A RT7-40 114, 000 0.0] 114,000 0.0|mdesn  [Stimiha]
[ (J)5—6 RSN TR 2T A 23789900 1 132 [ 2-7-30 203, 000 0.0 203,000 —4. T| P31
Tl () 5—7 S T AR BT 1247 11 THhBART3-4) 110, 000 0.0 110,000 [0 [HE S
B[ () 5—8 & T EE S 2 T B 1995 198 [t FH i 2-16-26 63, 600 0.8] 63,100 0. O P2t
&l (B 5—9 o ] T i R AT 3 4.3 72 [ i BR AT 8817 ) 260, 000 2.4] 254,000 -2, 3|FaE  [3tmias]
SR (B%) 5—10 BE ) ik 23 37T H 2078 18 Tk 2% F3-9-3) 68, 400 0.0] 68,400 (0] [
il (W) 5—11 R 7 VG AT 1AM 11391 45, 300 0.0| 45,300 0. 0fpg2EHn
[ () 5—12 ] T P T 1318 1PN T P BT 13-20 ) 65, 200 0.0| 65,200 0. 0 psi
Ja e (W) 5—13 T T BB 38 18, 700 0.0] 18,700 0. 0fpg2EHn
RN (W) 5—14 RER A2 T B 1015199 [RiI%2-1-5) 80, 100 0.0] 80,100 0. 0 psi
il (W) 5—15 B A E 6] H 33784 [ A 6-33-37 102, 000 0.0| 102,000 0. 0] i
TN (B) 9— R 7 1| 23 1 707 1 4% 13, 800 1.5 13,600 2. 3| Tt
il (W) 9—2 e T R AR 708 2 10, 100 0.0| 10,100 0. 0] " 2EHh
Bl (R) —1 B TR 13 167 11 5,940 -4.0 6,190 -4. 3|{EEH
B (B —2 BT 0 1R HT 40278 17 [ 0> KT 3-23 ) 32, 600 -0.6] 32,800 -0.6|{EEH  [i2K]
il () —3 Bl TARMLT B 39%34 KM 1-7-27) 44, 800 0.0] 44,800 -1 1| EE
() —4 BT AKRRTT B 35401 A\ AR 1-5-22) 35, 900 0.0] 35,900 0. 0| H
Hil () —5 Bl TTRAT10% 1 [HNT10-26) 52, 000 -0.4] 52,200 -0. 9|
ol () —6 TR T H 229143 31, 400 0.0] 31,400 -1 3|{EEH
il () —7 BT R106% 1 10, 100 -3.8] 10,500 —4.5|{(EEH
oy () —8 BT A 3 I 1339 2 9,070 -4.8 9, 530 -4.5|{EEH
il () —9 EEHEELT BITEATH#1-6-3) 16, 100 -1.2| 16,300 -1 2|
ol (B — 10 T A T A 1097204 5, 880 -2.8 6, 050 =3, 2|{EEH
il () —11 B TTH A B 6HEI 10856 5, 950 -4.0 6, 200 —-4. 2|fEEH
o () —12 B RS2 #1907 2 6, 100 -3.9 6, 350 -4.5|fEEH
B (R —13 B T/NE 20563 1 2,880 -4.0 3, 000 —4.5|{(EEH
() 5—1 HH T EITLT B4 19 HT1-4-29) 53, 000 -2.4| 54,300 -1. 3|pd e
=il ()52 B TR A 6546 50, 900 -2.5| 52,200 -0. 8|pHZEH  [iEK]




AR AL
FEYEHE FEUE oD FITLE o ORI DN (R 2R ik
IREAS | ABhER | ARYER | Bk

Hdr ()53 HEHTRT2T H1E4N TRIT2-1-29) 46, 600 -2.1| 47,600 -1. 4| e
Bl () 9—1 BT H 47565 M 1-4-19) 21, 400 0.0] 21,400 0.0| T34
KA (B —1 RARPE T RARPENT 525 15719 40, 900 -1.2] 41,400 -0. T|fEEH
KA () —2 R T 5 ) || T2 535 38, 500 -1.8] 39,200 0. 0| =t
KA () —3 KA PETHT KA PERT 5t ) FR387 20 37, 600 -1.3] 38,100 -1 ot
RASIE () —4 R T T S B R 127 15 30, 400 -1.9] 31,000 -1 6|EEH
KA (W) —5 KA ETTARIGFHT 5 5 IR 166 75 17 9, 400 2.1 9, 600 -1, 5|
KARE (B —6 KA 7 = BT B o AR 387 1 8, 480 0.0 8,480 -1 1[EEH
KA (W) —7 KARPETT = BENT BB R T2 T 9754 9, 260 2.0 9, 450 -1, 5|
KARE (B —8 AR 7 = BT 25 e i FH 8O 4 8, 360 -3.0 8,620 =3. 0|
KA () —9 RAVETT AR IFAT 52K 377 4 15, 500 -3.1] 16,000 -3. 6| (=
RAEE (F)5—1  [RANETREET ) H 1913 51, 000 -2.1] 52,100 -1 9| [RK]
KARHE (F)5—2 | KRBT RARHET B i3 2 19 48, 100 -1.8] 49,000 -0. 8| P EH
RAMHE (FD9—1 [ RARETHRERT =AM 14758 15, 700 0.0] 15,700 0.0 L3t [i2K]
165 (1) —1 TEBTIVE R Y 1T B 1457244 175 K38 v 1-15-30) 32, 500 1.2| 32,100 0. 0|1
1% (1) —2 TELTHHFINT 1 IR9X 1547 9,900 -2.9] 10,200 -2. 9| = H
165 (1) —3 I O 435710 17, 300 1.2| 17,100 0. 6|1
1% () —4 AT KB 1T H 555241 17,700 0.0] 17,700 0. 0|t
1% () —5 1636 A B H] 385753 20, 300 1.5| 20,000 1 Oj{EEH
(R —6 6% i A 55 1551655 16, 500 0.6] 16,400 0. 0|t
188 (R —17 BT T B 1283 A 1-12-3) 20, 900 1.5| 20,600 1 5|{EEH
1% (1) —8 BT T B 78077 22, 500 1.4] 22,200 0. 0|1
1% (1) —9 AEE: T HUCRIET 22443 X 4975 11, 500 -2.5| 11,800 -2, 5|{EEH!
1% (1) —10 AEE T AR By FR A5 T EI57 13 3,940 -0.8 3,970 -0. 8| == Hh
185 (1) —11 AE& T RA ET G 55 11 #1594 10, 300 -1.0] 10,400 -1 o
1% () —12 AEE T AT KT8 55 17 #1137 20 6, 600 -0.8 6, 650 -0. 7| H
6% (1) —13 AEE T R AR BT 4 iU 55 6 1151 2435 1 19, 000 0.0] 19,000 0. 0|
Wk (R —14 62 T SRR SRR | LIS IX 2015 6,970 -3.2 7, 200 -3. 1| EEH
6% (1) —15 EETA AT LA T H11382 15, 300 -1.3] 15,500 0. 0|
1% ()51 EEHENELT B21%5 28 E2-16-10) 35, 500 0.0] 35,500 0. 0] pi 3 s
1% (R)5—2 TE&TRE Y 1T H330%4 M Ki@ Y 1-14-31) 37, 300 -1.3] 37,800 -2. 8|mEEH
1% (R)5—3 B TR My R0 55 3 #1617 1 15, 600 -1.3] 15,800 -1. 3|
1% (B)5—4 TEB T B ARUT 4 M 55 T I 797541 20, 100 0.0] 20,100 0. 0|t
1% () 5—5 A6 TH HCFIRT 12906 (X887 3 17, 800 -3.3] 18,400 -3. 2| e
1% (W) 5—6 AE& T L/ E2187F 14+ 36, 700 -0.8] 37,000 -1. 6| P
Je bR —1 Jb b EFRTLT B 72820 LEFRT1-20-14) 33, 600 1.2| 33,200 0. 6|
bR —2 b EriREER LT H 7532 KEERI1-8-25) 24, 800 0.0] 24,800 0. 0|t
k() -3 Jb B HEETLT B 14152 [ EFET 1-13-10) 33, 700 12| 33,300 0. 6|
bR —4 Jb EHEBRALT H 106365 4 H1-26-3) 33, 200 1.2| 32,800 0. 6|
ek (%) —5 Jb B ERT2T B 19051 [ 5 HT2-7-10) 38, 200 0.0| 38,200 0. 0|fEE s
bk (7)) —6 Ab A EET 1T H 115382 THIJERT 1-5-48) 35,900 0.3| 35,800 0. 0|t
Jb bR —7 Jb L BIrg0 7154 #2953 28, 400 11| 28,100 0. 7| H
bR —8 L Ema< HiBY3T HA6FENTE < Bl v 3-3-20) 34, 500 0.9] 34,200 0. 6|
Je bR —9 b bR T 5 v 6 4 187 17, 200 0.6] 17,100 0. 0| (=1
ek (R —10 Je b Fn HTE )1 H 1HE] 1754 8,910 0.0 8,910 0. 0| f=EHh
bk () 3—1 Ak _Erimy oy 3 1473 S+ 7, 450 0.4 7,420 0. 0] = Hh S 3A Hh




AR AL
FEYEHE FEUE oD FITLE o ORI DN (R 2R ik
IREAS | ABhER | ARYER | Bk

bk () 5—1 b EmiAGE Y 1T H307# 144 A58 Y 1-8-33) 40, 400 0. 40, 400 0. 0| th
bR 5—2 b L Ab A 19 M EI 243K 144 44, 400 0. 44, 400 0. 0] p %t
bk ()53 b EriE a4 T H141F 14 VR iR 54-8-44) 33, 100 0. 33,100 0. 0| th
JEEG9—1 b b AL T2 1407 8 494 T T30 #1233 ) 11, 600 2. 11, 300 2. 7| T3

S ACORS IR TR HT 55 23 ik 16352 15, 000 -3. 15, 500 -1 3|fEEH  [RAK]
NEE (R —2 DG R NIT 5 16 #1727 7 15,900 -0. 16, 000 -1 2|FEEH
() —3 DGR /INA MY B 36 i H 5% 27 15, 200 -0. 15, 300 -1. 3|
INEE(R) —4 D& P iS5 5 s 172 27, 000 -2. 27,700 -0. 7| FEEH
US AU I FE T AT 55 32 I 11472 25, 400 -2. 26, 100 -2. 6| (=
W (R) —6 DG LML )| 559 E138 4 5, 300 -4. 5,520 -4. 5| FEEH
IR —1 ICZET L] 5 1 25 5 i) 1835 3 3,480 —4. 3,630 -|fEEE
(R 5—1 O\ HRT2 T H2T% 140 29, 700 -2. 30, 500 -2. 6|0 ¥
K (B 5—2 DCZETH ) AT 854 518 76 11 [IRFRT 10-17 ) 31, 000 0. 31, 000 -2. 2|

W () 9—1 DT RN 421 B8 % 14 8, 600 0. 8, 600 0.0| T3t [1EK]
() —1 Tt P AR IRTET 1 13 I8 144 17, 700 3. 17,100 3. 0|
i i (B —2 et BTN A RT3 2075 H IT5-6) 19, 300 -2. 19, 700 -0. 5| H
= () —3 Tt P 7T ST R R ST 29 M EI 99K T 6, 250 -1. 6, 310 -2. 3|
il () —4 Tt P ARG 1 16 H1EI50 782 16, 000 3. 15, 500 2. 0|fEEHh
(1) —5 T B T B SFRT b SR 120K 7T 4,400 -1. 4,460 -2, 4|
=P (J)5—1 Jat 7 EARETO0% 144 [ LARIT3-10) 28, 300 -1. 28, 800 N BHES:
i () 5—2 T B R T A5 15 #3374 30, 300 -1. 30, 900 -2. 5|a e
() —1 B R H 2853 43, 400 0. 43, 400 0. 0|t
— B (R —2 — B B T 120987 38, 700 0. 38, 700 0. 5|
—BI(R) —3 — BT B A 9682 22, 200 -0. 22, 300 -0. 9| {15
—BI(R) —4 — B FET 1435131 FET12-40) 32, 000 -0. 32,100 -0. 3|{rEH!
—BI(R) —5 BT R E T A 27552 23, 800 -0. 23, 900 -0. 4| {5
—BI () —6 — B HT243F 1 15 HT9-36) 23, 300 -0. 23, 400 -0. 4|z
—BI(R) —7 — BT IR T PRI 238 T 241 3,980 -2. 4, 080 -2. 9| (s
—B (R —8 — BTG SR ETE IR T R B 613517 16, 200 -1. 16, 400 -1, 2
—BI(R) —9 — BT AR T AR LT 10 244 9, 700 -1 9, 800 -1 0|
— B (%) —10 — B AL ST K TR EL 667 31 6, 180 -3. 6, 370 -2, 0| {EEH!
—B () —11 B R R R P 1L 283 10, 800 0. 10, 800 0. o)
— PR —12 — B R R KR o 975 34 11, 000 0. 11, 000 0. 0|
—BI(R) —13 — BT R K JF S b2 12 6, 300 0. 6, 300 0. 0|
—B(R) —14 — BT T T TRE SR T IH403% 1 16, 000 -4. 16, 700 -6. 2|
—BI () —15 — B8] A BT B AT 50912 13, 200 -1. 13, 400 -2. 2| FEEH
—B (%) —16 — B T R R T S i T 3027 6, 400 -2. 6, 550 -2. 2|
— B R —17 — BT LT R S AT 278 7 A1 15, 200 -1. 15, 500 =3, 1|
—B (%) —18 — BT LT R AR i T 56 10, 800 -1. 11, 000 -1, 8|{rEH!
—BI () —19 — BB LRTAN 5255 B IT29 %41 10, 000 -2. 10, 200 -1 9L
— B () —20 — B AR NT 1317 M4 HHHT 1-12) 42,100 0. 42,100 0. 0|t
—BI(R) —21 — BT EARMT YT BE T T 146524 8,300 -2. 8,500 ] (Eat:i
— B (R) —22 — BT AR T S 5 847 3 3,700 0. 3,700 0. 0|t
—B () —23 — BT IR IT A 5 E B4 T 25 8, 350 -2. 8,550 -2. 3| fEH
—BA () —24 — BT T A 1T 6, 050 -2. 6, 200 -2. 4| FEEH
—P () —25 — BT EIR AT ER 51605 9, 220 -3. 9,510 -3. 0|k




AFALEE A4 LT
FEUER T 5 FEVEHL OO FITE K OV 3 QN JR R fii#5
IR | BB | FRMEMRS | AR

— B () —26 — BTN £ 4 A2 60937 10, 200 -3.8] 10,600 -3. 6|fEEH
—B(R)5—1 — BN 1T H 83 12 Hp BT 1-5-18) 45, 600 -0.9] 46,000 -1. 3|pd e
—BI ()52 — BT I E 5= 2487 1 42, 000 -0.7| 42,300 -0. 9| P

B (B)5-3 -BATHAG SR AT AE S 175 28 19, 800 -1.5] 20,100 ~1. 5| P ¥
—B(R)5—4 — BT AR IT FER B IR 1298 344+ 17, 300 -5.5| 18,300 =5. T| P Hn

-BI(R)5—5 BT T BERT TR 2147 21, 700 -6.5] 23,200 -6. 8|5 ¥ Hh
—B(R)5—6 — R I T o A v 3 M2 1% 8 17, 600 -0.6] 17,700 ~0. 6| P H:

B (R 5—7 BT EARMTPTEE2 T H 163544 10, 900 -3.5] 11,300 -3, 4| P
—BI ()58 — B TR AT HEIR 0T 128 13, 000 -5.1] 13,700 ] EE S

B () 9—1 BT A 14%21 8, 300 0.0 8, 300 -2. 4| T
BEmir e (W) — 1 (B & T T8 A7 119933 21, 800 -1.4] 22,100 —0. 9|{EEH!
BERi e F (R —2 [ BERT & KRR AT 2R 5 9k 7 15, 900 -0.6] 16,000 -0. 6| Hh
Ry (W) —3 (BT i LR35 T 30876 16, 100 -0.6] 16,200 0. 0ffEEH
BriE (R) —4 | BEdE S VI 52 b 54279 9, 300 -3.1 9, 600 -4.0|FEH  [RK]
AR —1 SR BT T H 1938 TR BT 2-3-11) 46, 000 0.0| 46,000 0. 0f{ExH
S0 (1) —2 ST I 15 E165 8 579 28, 800 -3.4] 29,800 -2. 0| = Hh
& (R) —3 S TR 85 2 H1 257 148 23, 300 - - — | [EEE]
S0 (1) —4 ST H 875 [ [T 1-8-9) 48, 000 -0.4] 48,200 -0. 6| == Hh
A () —5 Eali B EET4T B9%E 1061 b BRT4-3-8) 52, 300 0.0 52,300 0. 0f{ExH
£ (1) —6 ST T I8 EI36 % 19 27, 200 -2.9] 28,000 -2. 8| H
FA(R)5—1 Sah B ERTLT B 963244 [ b BT 1-1-33) 55, 800 -0.7| 56,200 RN GES:
S (R)5—2 SSATTHRWENT2 T H 495 [ RIERT2-6-12) 50, 400 -0.4] 50,600 -0. 4|p4EH
S0 ()9—1 ST I MEI 171758 17, 500 -0.6] 17,600 -0. 6| T %
T () —1 TR R AR 1T 19, 600 -1.5] 19,900 -1.5|{EEH
TR -2 TR AT A 10675 3 (T ERJE 2 12845 X 1 31 Hl 197 Hh) 29, 200 -1.0] 29,500 -1, o|fEH
T (R) -3 e TS 1461 13, 700 -2.8] 14,100 -3, 4|fEEH
TR —4 i e S R 657 4 20, 200 -1.5| 20,500 -1 4|{EEH
S (R) =5 T S A P 287 1 9, 350 -1.6 9,500 -3, 1|{EEH
AR —6 T TR SERT ) 41752 8,950 -1.6 9, 100 -3, 2|{EEH
S (R)5—1 SRR R 5T 28, 900 -1.4] 29,300 -1, T|ps
“(R)5—2 R AT 227 13 41, 000 -2.4| 42,000 —0. 7|ra e
ZF ()53 TR SRR R A 43541 14, 800 -5.1] 15,600 A HE S
“ (R 5—4 T TR B S Y4434 34, 600 -3.4] 35,800 -3. 2|
IR () —1 I AT K B g5 24 b 1354 12,900 -1.5| 13,100 =2. 2|{EEH
IR (B —2 J\ IS 17 P 55 25 12135 2 10, 400 -1.0] 10,500 —0. 9|{EFH
IR (B —3 J\ I Y- T K B 2 18 #1150 3-8 1 15,100 -1.3] 15,300 ~1. 9|fEEH
IR () —4 J\ I S 117 B BR A5 20 iyl 1 28 - 241 6, 800 -2.9 7, 000 -2. 8|{EEH
I\ () —5 JNIEFETiE2T H24%& THi62-2-11) 5,180 -3.0 5, 340 —4. 0| fEEH
IR () —6 NG T 2 7 AR 55 28 1t 116972 4,680 -2.5 4,800 —2. 4|{EEH
IR () —7 I\ TAR B 75 AR 1 15902 120 6,180 -1.0 6, 240 0. OffEEH
NI (B —8 J IR P2 5 2 T HT 132782 11, 400 -3.4| 11,800 -3, 3|{EEH
- () —9 J\IE T 1112052 6, 320 4.4 6, 610 —-4. 2|fEEH
JUBEE () —10  [J\IEE il k66754 9, 270 -2.5 9,510 =2, 5|{EEH
JURE- (B 5—1  [JABEET AR 55 26 1151141753 16, 000 -3.6] 16,600 -3. 5| P
JURESE(J)5—2 | JE iR =BT 110% 1 14, 300 -5.9] 15,200 N GES
BN (B) —1 BN T KPR BFIT 11432 (K PO |- BFIT9-15) 28, 200 -1.1] 28,500 -1. 0|




AR AL
FEYEHE FEUE oD FITLE o ORI DN (R 2R i
IREAS | ABhER | ARYER | Bk
B () —2 BN TR ELSE 23 1T H 1035 20, 900 -0.9] 21,100 W (e at:i
BN (5 —3 BN K RAKHERT 927 7 25, 800 -0.8] 26,000 -1 1| EEH
B () —4 BN TR T H 5 76 1063F 14+ 28, 000 -0.7| 28,200 -1 1| EEi
BN (B —5 BN T A1 643 19 8, 590 -2.3 8, 790 -2. 3| FEEH
BN () —6 BN TR T 51508 1 25, 400 -0.4| 25,500 -0. 8|
BN (B —7 BN KRR AT 2467 3 17Kk IRURAT1-10) 23, 400 -0.4] 23,500 -1. 3| FEEH
BN () —8 BN T PR AT 527K ) A A9 21, 100 0.0] 21,100 0. 0|{E%Hh
BN (B —9 BN TR 2R 5 5 T FL8 T8 54 14, 200 0.0] 14,200 -0. 7| FEEH
B () —10 B TV SR MT 11672 [T 2R 11-3) 18, 100 1.1] 17,900 0. 0| (1=t
BN () — 11 BN TS A 255 | R T4 6 17, 400 12| 17,200 0. 0| =t
B () —12 BN ATTAZS H BT 4638 44 LS B BT4-5) 22, 300 -0.4] 22,400 -0. 9| {EEH
BN (B —13 BN T2 1B FH 29 3 6, 740 -3.9 7,010 -4. 0| FEEH
B () — 14 B A R 63 10, 700 -3.6 11, 100 -4. 3|
B () —15 BN AR IS S 4675 1 23, 200 0.0] 23,200 0. 0|t
B () —16 BN TR T N 4138 7 15, 400 -1.3] 15,600 -1, 3|
BN (W) —17 BNTRTIRER 2 T B 33T 26, 900 0.0] 26,900 -1 1| EEH
B () —18 BT AR R P D 4R 367 Sk 11, 800 -1.71 12,000 -1, 6|
B () —19 BN T AR B THR RS AR 1602 10, 300 -1.9] 10,500 -1, 9| EHH
B (BL) —20 BN T REIR AT 5 55 1843 4+ 6, 000 -1.6 6, 100 -2, 1|fEEH
B () 5—1 BN TR FAE T 2305 36, 800 -2.1| 37,600 R GES:
BN () 5—2 BN TR R i 52 1|5 P 827 34 38, 000 0.0| 38,000 0. 0|zt
B (B)5-3 BN T VLA PE R 0 1223 144 T K6 Y 8-3) 23, 600 0.0] 23,600 -0. 8|pa
B () 5—4 B T B RT2T B 1544 [V & AT 2-1-5) 26, 000 -0.8] 26,200 -1, 1| P
BN (B 5—5 BN AR L3k R 96 % 48k 11, 900 1.7 12,100 -1. 6|pa e
B () 9—1 BN KR THEM M2 T B 11354 8,460 1.9 8, 300 0. 0| L4
BN (J)9—2 BN TS A3 25 S AR 58 6 6, 360 2.3 6, 220 2. 0| T3
R (R —1 TEIR TR 627 365 28, 300 1.1] 28,000 0. 0|
TR () —2 TER T X 11260726 35, 300 3.8 34,000 2. 7|
R () —3 TR IR T ][] 4 P 775293 36, 600 3.7 35,300 2. 9| H
TR () —4 TR T 1176885 31, 200 3.0] 30,300 2. 7|
TR () —5 TEIR T B AR29735 13 44,700 5.4] 42,400 2. 9| H
TR () —6 IR HED AP 316F454 29, 000 3.2| 28,100 2. 9|
R () —7 TR T/ 66174 41, 200 5.4] 39,100 4. 8|
R () —8 TE P T AT #7809 2 16, 700 0.0] 16,700 0. 0|
TR () 5—1 FERTTHEDOARRIL165F1 41, 400 0.0] 41,400 0. 0] i S tth
F4 (R —1 LM/ H A HIT67548 12,900 -0.8] 13,000 -1 5| EEH
(B —2 F M K60 25 10, 300 -1.9| 10,500 -4. 5| FEEH
FH R 51 EANT ENT 2% 18, 200 -1.6| 18,500 -1. 6|pE
wE) —1 BB MY 55 G 12 TR 309K 7 8,960 -3.4 9, 280 —4. 6|fEEH
g (R) —2 BT 5K T S T T 827 2 6, 440 -3.4 6,670 -3. 5| H
wHE ) -3 FEB MRS A 20 M F 4 ) NT9F 141 5, 180 -3.9 5,390 -4 3|fEEH
P () 5—1 BT 5K 1 3 5 K A9 % 14, 400 -5.3] 15,200 -6. 2|
AT —1 A TRIRT I B i H 10 %1 74381 13, 700 -6.2| 14,600 -5. 8|{EEH
m T (R) —2 S5 TITRTI A 2B 14 #1555 10, 200 -3.8] 10,600 -5. 4|z
EFR 51 B PR RN N S 10 £ 1875 18, 800 -6.0| 20,000 e GRS
SR () —1 SRZHT B RSP 1T H 635 36, 300 4.9] 34,600 4. 2|fEEH




AR AL
FEYEHE FEUE oD FITLE o ORI DN (R 2R ik
IREAS | ABhER | ARYER | Bk
SR () —2 SRIENT A A5 H O 1469 11 25, 700 3.6] 24,800 2. 1| e
2R () — BRI K S 56739 35,900 5.0] 34,200 2. 1EEH
SR () —4 SRINT SR T S RAT4 T H 1383241 42, 600 4.9] 40,600 4. 1|fEEH
ESIACS SRWITAL H 35K B 2240 30, 000 3.4] 29,000 -|EEm
ESIACOLE! SRUEHT B EETE LT H 292 37, 800 -0.3] 37,900 -0. 3|psE
SR (F)9—1 SR MT R AR 1159 1 10, 300 0.0] 10,300 0. 0 ¥t
Frpr () —1 J TR T R PE A 56 ] 12778 3 44, 300 3.0 43,000 3. 1|fE%E
i () — R TMT R 45 13 8 1697 441 50, 000 6.8] 48,800 11. 4|
Ferpy () —3 JR MY R SR 55 11 M 18738 50, 300 3.1| 48,800 3. 8|fE%
e () — ST 4-FE4 T H 16318 i@t y-p4-16-16 24, 000 0.4] 23,900 0. 4=
K (F) —5 SR BT A7 S AT 55 3 1 20025 30 55, 800 4.1] 53,600 6. 1| {1
il () —6 SRR S SR 7 5 6 M 3 199 61, 700 4.4 59,100 5. 9= H
K () =7 FR I ORI B S L M 27 581 11, 900 2.6] 11,600 0. 9|1
Frl (W) —8 R TR SR P 5 1 4 8 725 1 9, 700 - - —|EEH [REE]
R (J)3— R THH] R TR IR 5 6 1 337 2 20, 200 3.6] 19,500 3. 7| Hh R A
S () 5—1 SR TMT K SR 5 7 M 4435 74, 000 1| 73,200 I RS
ZKif (F)9—1 2R Ty BT R VG P 5 8 1t 1 26 3% 41 16, 500 1.9| 16,200 2. 5| L¥ih
PRI (J) — PE RN T )1 A0 H 140788 5, 000 -5.3 5, 280 N (et
PaFnE () — PR AT F 8 2% 3915118515 4, 600 -4.6 4,820 -4. 6|
PRI (J) — PERE AT RS SiE35 Hh 52 P 2, 350 0.0 2, 350 0. 0| ==t
B —4 PEFIRL R AR 30 1 1 T6 2 95 5, 280 -4.0 5, 500 -4, O|{EEH!

FEFIRE () — PEFNE T PR 2K 3482 1 3,280 -3.5 3,400 =3, 4|EEH
VAR (B 5—1  [PEFIAT)I a0 MBI 73 %28 7, 450 -3.9 7, 750 -3, 5| e
iy () — L IREHT PG AR BT 54873 22, 000 0.5 21,900 L 9|
i (W) — Al BT VU AR S 1873 20, 100 0.5] 20,000 2. 0|{E=
iy (F)5—1 | @FIRET = JUOREME F1TE1N 21, 300 0.0] 21,300 0. 0]t
&l (F)5—2 |4 IGTHT VG AR P4 Hh R 7 38 7 4PN 23,900 0.0] 23,900 0. 0|t
&4 IR (B) 9— IR VAR AR 1L 4% 13 9, 160 2.0 8, 980 0. 0| %t

P () — PSR ET SR TR A 11156758 20, 800 -1.9] 21,200 -1 9|

A () — SR TSR SR I 13373 20, 500 -1.9] 20,900 -1 9| EEH
PR (W) 5— PSR ET SR AR 267 1 21, 900 -1.8] 22,300 -1. 8|5
FEH () — & F T KT 6785 10, 800 -1.8] 11,000 -1. 8| EEH
fEH (1) — M _EA T\ A RT703% 6,720 -2.0 6, 860 -2, 0|fE=EH
(R —3 fEMRIT FAEFH E110%11 3,700 -2.4 3,790 ] (Eat:i
fEH (F)5—1 32 FR T PR DR ER 738 Y 15, 800 -1.9] 16,100 -3. 0| P
KA () —1 KEBRTEEANT450% [BLANT6-27) 22, 100 -3.5| 22,900 —2.6|fEEH  [RAK]
KA () — REERT & H1 T H610%E8 [ B B 1-7-15) 20, 300 -3.3] 21,000 -2.3{EE#  [RK]
Johl (F) —3 KBBHT RS O 1T H 17551941 K4 111-12-35) 20, 900 -2.3| 21,400 -2. 7| FEEH
Hi (R — 1L WY Rl 4 T H 1098 R IkF4-10-11) 34, 000 -2.6] 34,900 -3.3|fEE#  [RAK]
i () —2 1L PR TS AR 55 2 M 1 7 1355 17, 800 -3.3] 18,400 —4. 2|
Hi (R — L FETET Ly P 354 H ] 1676 4 (BIIR AL i 1t (X 2576 [X 361 1) 21, 000 -3.2] 21,700 -3 6| [RAK]
R (R) —1 R IR T = AR 247 16 18, 600 -3.1| 19,200 -3. 0| H
AR () S SR IT /N AR 8730279 9, 300 -3.1 9, 600 -2.5|fEEH
FH 2 (W) —1 FH B 40 2 18275 6, 800 -3.5 7, 050 —4. 1|{EEH
P I () — FH BP AT 7 72397 5 7, 050 -4.1 7, 350 -3. 9| EEH
FH 27 (W) —3 FE 7SS FR P A 14173 6, 060 -3.0 6, 250 =3, 1|




A FI4AE A FISAEHE
FEUER T 5 FEVEHL OO FITE K OV 3 QN JR R fii#5
IR | BB | FRMEMRS | AR

WAL IR —1 WA 5 13 #2144 29 10, 700 -2.7| 11,000 -3.5|{EEH
AR —2 AR 5 4 = 187K 11 9, 060 -3.6 9,400 -3. 6|fF=EH
AR 5—1 WA 5 13 #1283 13, 600 -3.5] 14,100 -4. 1|z
Bk () —1 KM R T K S A M 5 B AT F 94 14, 500 -7.1] 15,600 -7, 1|
R () —2 T8 KT A0 K 55 3 1 5 T P28 3 9,820 -5.6] 10, 400 =5. 5|{EEH
Bk () —3 BRI R L4545 15 M B A IRF 607 51 15, 200 -5.0] 16,000 -4. 8| H
R () 5—1 [P NIPNES 3 3 i PN -5 LS| 16, 200 -6.9] 17,400 -7. 9|z
27 () —1 W PR SR 45 3 1 M B R 1206 7 1 7, 460 -1.6 7, 580 -1. 6| H
BFH () —2 B FH A KB 55 155 ) i 2292 8,410 -1.6 8, 550 -1. 6| (=
2 (J)5—1 WP A R B S 26 TR 12752 14,100 -3.4] 14,600 -3. 3| M [32K]
JUFE (R —1 U R T RN S T HbE] 5= T A 1457 3 7, 680 -3.0 7,920 —4. 0|t
U () —2 TR KRR S E T LA 4% 5, 500 -3.5 5, 700 -4 4| FEEH
JUF () =3 JUFAR R GG 55 11 50 1-83%:4 8, 860 -3.6 9, 190 —4. 6|{EEH
JuF () 5—1 JUF R R FOHR N 12805 5 ERT5 % 13, 300 -6.3] 14,200 -6. 6| p
R —1 T IR T 55 23 M T M 2T 8 2411 18, 200 -1.6] 18,500 -1 6|{EEH
PEEF (1) —2 PEBPMT KBRS 62 E| R > _L60%A 8,310 -3.5 8,610 -3. 5| H
PREF (W) —3 TP BT RE 1 55 24 56 TR 6574 9, 450 -1.0 9, 550 -1. ol
PR () —4 T I RR T 55 1 TR /AR 159568 5,900 2.5 6, 050 -2. 4|1
() —5 PERPRT KB 55 70 M IR AR 2875 6, 690 -3.0 6,900 -3. 0| {EEH
PEEF () 5—1 PERF TR T 4523 B B2 TR 6T 23, 200 -2.1] 23,700 R GE S
PEEF (JL)5—2 PERPRT KB 55 64 M 5 V5 KB 735 1N 12, 100 -4.71 12,700 N [GE S

(B —1 JFRT— F TR AR 1387 13 15, 200 -3.8] 15,800 -2.5|fEEH
—F () —2 — Y VG S A B 6195 16, 600 -3.5| 17,200 -3, 4|{EEH
—F () =3 — FTE TR A 78% 11, 600 -4.1] 12,100 -2. 4|fEEH
—F (B)5—-1 — P — P ARET 673 16, 200 -3.6] 16,800 —4. 0|ra e

(FE1) [EEMOPTEROCMERT CICERERZR Mo [y idERFR, () NIZEKEEREEICL 2 TRA, #HKES, F5F0oRRTHD,
(E2) MiEs) Mo Bhmaa] 3, 54 FRMmAREEER (&R S4FE 1 1R) LR—HROEERTH D 2 L 27T,

(E3) Mg Mo [BER] 13, fiel & EEROMEICEE DD 2 L 2rd,

(E4) MEE) Mo DEag] . Fiolc e sE L2 L 2Ry, (B4 EEERLsaL)

(E5) Mz Mo [FEEE] 1T, UEFEOFSITEENDL Z Lamrd, (F4FEEFE L2 L)

(E6) Mg Mo [RAK] 1F. RARKERKGERIC L VRAWELZ I L 27T,




(2) #it
(HAL 2 1,102, %)

L YEH FEVEHL O FTAE o OV I N R B 2R - AR - RAULUE fi%
pinRs | 2@ | mems | 2es

HFE W) -1 BERH T RN TR 1 2 8% 1 184, 000 -0.5 185, 000 —1. L|#R 7T AR bk
HFE ) -2 IR LS 5 Ml 1 5 7R 2 27, 000 -1.1 27,300 —2. 2| ATk

HFE R -3 KARPETTSARMT 2 AR 1 6 % 1 33,900 -1.2 34,300 —0. 9B T AR AR
BT ) -4 [RBTG5 6 HiEI 5 7E 9 38, 900 -0.5 39,100| 0. 5| A bkt

HF B -5 |EREFTHT RARRTIELN 7 B8 9 F 1 31, 000 0.0 31, 000 0. O] ji A At

HFE (K -6 —BTRIETE T 1 7 37K 4 52, 000 -0.4 52, 200 —0. 4|#B AT AR A
HE ) T JIEEHTITERS 2 7 #1515 8 4% 1 45, 100 0.0 45, 100 0. O] ji At it

AT (K -8 |[EFENTAER 1 % 1 3 0% 9 28, 700 0.0 28, 700 0. O] L B btk iy
HFE R -9 fEE A FRN 6 87 1 71, 000 -0.8 71, 600 =1 1| ATk i

AT () -10 | ZATAETT R4 5% 3 3 52, 500 0.0 52, 500 0. O] At it

HFE ) -1 |ERMTRETFERE 66K 70 42,100 0.0 42,100 0. 0| fRAs#ht  [HHAH]

(E1) (%) WO DRER] S §i L ORI SRS b = L 47T, (34 FEEES7A L)
(E2) (%) Mo [HHEE] 12, SEEEOBFIAERDD 2 L 27T




